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Aula 16: Processo que conduziu à crise financeira (conclusão)

1. a) O que é o leverage?

b) Quanto aumentou o leverage dos 5 principais bancos de investimento em 2004-7? Qual foi o objetivo desse aumento do leverage?

c) O que tornou possível esse aumento do leverage?

2.Apresente o balanço do Morgan Stanley em Outubro 2007.
3. a) Qual o efeito da descida dos preços das MBS sobre a situação líquida dos bancos de investimento? Justifique.
b) Como reagiram os credores a esse facto?

c) Que consequência essa reação dos credores teve sobre os preços das MBS e de outros títulos financeiros detidos pelos bancos de investimento? Justifique.
3. Explique a espiral viciosa que conduziu à descida do preço das MBS-seniores para apenas 40% do seu valor facial, bem como à queda do índice SP500 de 1700 em Set 2007 para 700 em Março 2009.
4. Compare o balanço do Morgan Stanley em Out 2007 e em Out 2008, sublinhando as duas principais diferenças. 

5. Em que sentido se pode dizer que o balanço dos bancos de I encolheram entre 2007 e 2009?
6. a) O que significa a situação líquida de um banco tornar-se negativa?

b) Nesse caso, o que deve o governo fazer para manter o banco em funcionamento?

c) Se o governo deixar falir o banco, como é que o governo poderá garantir o pagamento integral aos credores? Nesse caso, o que acontece aos accionistas?

7. a) Qual foi a diferença entre o modo como o governo americano deixou falir o Bear Sterns em Fev 2008 e o Lehman Brothers em Set 08?

b) Qual a consequência desse facto sobre os créditos por grosso concedidos aos bancos de investimento e aos bancos de depósito – depois da falência de um e de outro banco? Justifique.
c) Qual a consequência deste facto sobre o crédito concedido à economia? Justifique.

A17: Explicação do ciclo por Minsky – noções básicas
8.Which are the two basic sources of business funding?

9. Which are the two regular obligations imposed by debt?

10. What’s the difference between cash-flows and profits?

11. What’s the difference between the return on capital or assets and the return on equity?

12. Suppose the interest rate is 10%.

a) If a business has financed 99% of the purchase of its capital with debt, under which circumstances will its cash-flows be insufficient cover its interest payments?

b) If a business has financed only 1% of the purchase of its capital with debt, under which circumstances will its cash-flows be insufficient cover its interest payments?

c) In which of the two cases will the business be able to borrow to undertake new investments? Explain.
13. The higher is a company’s debt relative to its assets, the higher is the probability that its interest payments will exceed its production cash-flows. Why?

14. What does a company’s leverage ratio equal to 4 mean? 

15. Suppose that the rate of return of capital exceeds the interest rate by 5 percentage profits. 

a) By how much will profits increase if a business’s debt rises by 200 euros? Explain.

b) The value of the business’s equity is 100 euros.  By how much will its profit rate increase? Explain.
16. Under which circumstances does leverage amplify a business’s profits? Explain with a numerical example.

17. The value of a business’s equity is 100 euros, and the rate of return of capital exceeds the interest rate by 10 percentage profits. 

By how much will its profits and its profit rate increase if the business’s debt rises by 50 euros? Explain.
18. “Changes in AD over the cycle are associated with roughly proportional changes in businesses’ revenues.” Do you agree? Explain.
19. “Changes in AD over the cycle are associated with roughly proportional changes in businesses’ profits.” Do you agree? Explain.
